

D23/43918

2025 Meeting Schedule

Where possible the following meeting patterns are adhered to, alterations to this are as needed.

Council	Held monthly (2 nd Tuesday in that month)	
Policy and Services Committee meeting	Held monthly (4 th Tuesday in that month except April)	
Audit & Risk Committee Meetings	Held every second month (3 rd Tuesday in that month)	
Farm Committee Meetings	Three meetings a year to align with the seasonal elements of the activity (February, May and September)	
Public Forums	Public forums are scheduled at 3.00 pm prior to each Council meeting. These forums are by request and more information can be located on Council's website.	
Workshops	Workshops will be scheduled prior to each Ordinary and Policy and Services Committee Meeting. Change in times, additional workshops or cancellations will be notified by the Chief Executive.	

All meetings are held in the Council Chambers unless otherwise stated

Meeting	Meeting Date	Meeting Time
DECEMBER 2024		
Workshop for Councillors Public Forum (by request) Council Meeting	Tuesday 10 December Tuesday 10 December Tuesday 10 December	1.00 pm 3.00 pm 3.30 pm

JANUARY 2025		
Workshop for Councillors	Tuesday 28 January	1.00pm
Policy & Services Committee	Tuesday 28 January	3.00 pm
-		
FEBRUARY 2025		4.00
Workshop for Councillors	Tuesday 11 February	1.00 pm
Public Forum (by request)	Tuesday 11 February	3.00 pm
Council Meeting	Tuesday 11 February	3.30 pm
Farm Committee	Tuesday 25 February	12 noon
Hearing (Vehicle Crossing, Restricted		
	Tuesday 25 February	1.00 pm
Policy & Services Committee	Tuesday 25 February	3.00 pm
MADOU 2025		
MARCH 2025 Workshop	Tuesday 11 March	1.00 pm
Public Forum (by request)	Tuesday 11 March	3.00 pm
Council Meeting	Tuesday 11 March	3.30 pm
		0.00 pm
Audit and Risk Committee	Tuesday 18 March	2.00pm
	-	-
Workshop for Councillors	Tuesday 25 March	2.00 pm
Policy & Services Committee	Tuesday 25 March	3.00 pm
APRIL 2025		
Workshop for Councillors	Tuesday 8 April	1.00 pm
Public Forum (by request)	Tuesday 8 April	3.00 pm
Council Meeting	Tuesday 8 April	3.30 pm
	raceaay o rapin	
The April Ordinary Meeting of Council	will be held in Whangamomona	
	will be held in Whangamomona	
The April Ordinary Meeting of Council consultation on the Draft Annual Plan)	will be held in Whangamomona a	and will include community
The April Ordinary Meeting of Council consultation on the Draft Annual Plan) Workshop for Councillors	will be held in Whangamomona a Tuesday 29 April	and will include community 1.00 pm
The April Ordinary Meeting of Council consultation on the Draft Annual Plan)	will be held in Whangamomona a	and will include community
The April Ordinary Meeting of Council consultation on the Draft Annual Plan) Workshop for Councillors	will be held in Whangamomona a Tuesday 29 April	and will include community 1.00 pm
The April Ordinary Meeting of Council consultation on the Draft Annual Plan) Workshop for Councillors Policy & Services Committee	will be held in Whangamomona a Tuesday 29 April	and will include community 1.00 pm
The April Ordinary Meeting of Council consultation on the Draft Annual Plan) Workshop for Councillors Policy & Services Committee MAY 2025 Audit and Risk Committee Workshop for Councillors	will be held in Whangamomona a Tuesday 29 April Tuesday 29 April Tuesday 13 May Tuesday 13 May	and will include community 1.00 pm 3.00 pm 11.00 am 1.00 pm
The April Ordinary Meeting of Council consultation on the Draft Annual Plan) Workshop for Councillors Policy & Services Committee MAY 2025 Audit and Risk Committee	will be held in Whangamomona a Tuesday 29 April Tuesday 29 April Tuesday 29 April	and will include community 1.00 pm 3.00 pm 11.00 am
The April Ordinary Meeting of Council consultation on the Draft Annual Plan) Workshop for Councillors Policy & Services Committee MAY 2025 Audit and Risk Committee Workshop for Councillors	will be held in Whangamomona a Tuesday 29 April Tuesday 29 April Tuesday 13 May Tuesday 13 May	and will include community 1.00 pm 3.00 pm 11.00 am 1.00 pm
The April Ordinary Meeting of Council consultation on the Draft Annual Plan) Workshop for Councillors Policy & Services Committee MAY 2025 Audit and Risk Committee Workshop for Councillors Public Forum (by request) Council Meeting	will be held in Whangamomona a Tuesday 29 April Tuesday 29 April Tuesday 13 May Tuesday 13 May Tuesday 13 May Tuesday 13 May Tuesday 13 May	and will include community 1.00 pm 3.00 pm 11.00 am 1.00 pm 3.00 pm 3.30 pm 3.30 pm
The April Ordinary Meeting of Council consultation on the Draft Annual Plan) Workshop for Councillors Policy & Services Committee MAY 2025 Audit and Risk Committee Workshop for Councillors Public Forum (by request)	will be held in Whangamomona a Tuesday 29 April Tuesday 29 April Tuesday 13 May Tuesday 13 May Tuesday 13 May	and will include community 1.00 pm 3.00 pm 11.00 am 1.00 pm 3.00 pm
The April Ordinary Meeting of Council consultation on the Draft Annual Plan) Workshop for Councillors Policy & Services Committee MAY 2025 Audit and Risk Committee Workshop for Councillors Public Forum (by request) Council Meeting Hearing (2025/26 Annual Plan)	will be held in Whangamomona a Tuesday 29 April Tuesday 29 April Tuesday 13 May Tuesday 13 May Tuesday 13 May Tuesday 13 May Tuesday 13 May	and will include community 1.00 pm 3.00 pm 11.00 am 1.00 pm 3.00 pm 3.30 pm 10.00am
The April Ordinary Meeting of Council consultation on the Draft Annual Plan) Workshop for Councillors Policy & Services Committee MAY 2025 Audit and Risk Committee Workshop for Councillors Public Forum (by request) Council Meeting Hearing (2025/26 Annual Plan) Farm Committee	will be held in Whangamomona a Tuesday 29 April Tuesday 29 April Tuesday 13 May Tuesday 13 May Tuesday 13 May Tuesday 13 May Tuesday 20 May Tuesday 27 May	and will include community 1.00 pm 3.00 pm 11.00 am 1.00 pm 3.00 pm 3.00 pm 3.30 pm 10.00am 12 noon
The April Ordinary Meeting of Council consultation on the Draft Annual Plan) Workshop for Councillors Policy & Services Committee MAY 2025 Audit and Risk Committee Workshop for Councillors Public Forum (by request) Council Meeting Hearing (2025/26 Annual Plan)	will be held in Whangamomona a Tuesday 29 April Tuesday 29 April Tuesday 13 May Tuesday 13 May Tuesday 13 May Tuesday 13 May Tuesday 13 May	and will include community 1.00 pm 3.00 pm 11.00 am 1.00 pm 3.00 pm 3.30 pm 10.00am
The April Ordinary Meeting of Council consultation on the Draft Annual Plan) Workshop for Councillors Policy & Services Committee MAY 2025 Audit and Risk Committee Workshop for Councillors Public Forum (by request) Council Meeting Hearing (2025/26 Annual Plan) Farm Committee Workshop for Councillors Policy & Services Committee	will be held in Whangamomona a Tuesday 29 April Tuesday 29 April Tuesday 13 May Tuesday 13 May Tuesday 13 May Tuesday 13 May Tuesday 20 May Tuesday 27 May Tuesday 27 May	and will include community 1.00 pm 3.00 pm 11.00 am 1.00 pm 3.00 pm 3.00 pm 3.30 pm 10.00am 12 noon 1.00 pm
The April Ordinary Meeting of Council consultation on the Draft Annual Plan) Workshop for Councillors Policy & Services Committee MAY 2025 Audit and Risk Committee Workshop for Councillors Public Forum (by request) Council Meeting Hearing (2025/26 Annual Plan) Farm Committee Workshop for Councillors	will be held in Whangamomona a Tuesday 29 April Tuesday 29 April Tuesday 13 May Tuesday 13 May Tuesday 13 May Tuesday 13 May Tuesday 20 May Tuesday 27 May Tuesday 27 May	and will include community 1.00 pm 3.00 pm 11.00 am 1.00 pm 3.00 pm 3.00 pm 3.30 pm 10.00am 12 noon 1.00 pm
The April Ordinary Meeting of Council consultation on the Draft Annual Plan) Workshop for Councillors Policy & Services Committee MAY 2025 Audit and Risk Committee Workshop for Councillors Public Forum (by request) Council Meeting Hearing (2025/26 Annual Plan) Farm Committee Workshop for Councillors Policy & Services Committee JUNE 2025	will be held in Whangamomona a Tuesday 29 April Tuesday 29 April Tuesday 13 May Tuesday 13 May Tuesday 13 May Tuesday 13 May Tuesday 20 May Tuesday 27 May Tuesday 27 May Tuesday 27 May	and will include community 1.00 pm 3.00 pm 11.00 am 1.00 pm 3.00 pm 3.30 pm 10.00am 12 noon 1.00 pm 3.00 pm 3.00 pm
The April Ordinary Meeting of Council consultation on the Draft Annual Plan) Workshop for Councillors Policy & Services Committee MAY 2025 Audit and Risk Committee Workshop for Councillors Public Forum (by request) Council Meeting Hearing (2025/26 Annual Plan) Farm Committee Workshop for Councillors Policy & Services Committee JUNE 2025 Workshop for Councillors	will be held in Whangamomona a Tuesday 29 April Tuesday 29 April Tuesday 13 May Tuesday 13 May Tuesday 13 May Tuesday 13 May Tuesday 20 May Tuesday 20 May Tuesday 27 May Tuesday 27 May Tuesday 27 May Tuesday 27 May	and will include community 1.00 pm 3.00 pm 11.00 am 1.00 pm 3.00 pm 3.00 pm 10.00am 12 noon 1.00 pm 3.00 pm 1.00 pm
The April Ordinary Meeting of Council consultation on the Draft Annual Plan) Workshop for Councillors Policy & Services Committee MAY 2025 Audit and Risk Committee Workshop for Councillors Public Forum (by request) Council Meeting Hearing (2025/26 Annual Plan) Farm Committee Workshop for Councillors Policy & Services Committee JUNE 2025	will be held in Whangamomona a Tuesday 29 April Tuesday 29 April Tuesday 13 May Tuesday 13 May Tuesday 13 May Tuesday 13 May Tuesday 20 May Tuesday 27 May Tuesday 27 May Tuesday 27 May	and will include community 1.00 pm 3.00 pm 11.00 am 1.00 pm 3.00 pm 3.30 pm 10.00am 12 noon 1.00 pm 3.00 pm 3.00 pm
The April Ordinary Meeting of Council consultation on the Draft Annual Plan) Workshop for Councillors Policy & Services Committee MAY 2025 Audit and Risk Committee Workshop for Councillors Public Forum (by request) Council Meeting Hearing (2025/26 Annual Plan) Farm Committee Workshop for Councillors Policy & Services Committee JUNE 2025 Workshop for Councillors Public Forum (by request) Council Meeting	 will be held in Whangamomona a Tuesday 29 April Tuesday 29 April Tuesday 13 May Tuesday 20 May Tuesday 20 May Tuesday 27 May Tuesday 27 May Tuesday 27 May Tuesday 27 May Tuesday 10 June 	and will include community 1.00 pm 3.00 pm 11.00 am 1.00 pm 3.00 pm 3.00 pm 10.00am 12 noon 1.00 pm 3.00 pm 3.00 pm 3.00 pm 3.00 pm 3.00 pm
The April Ordinary Meeting of Council consultation on the Draft Annual Plan) Workshop for Councillors Policy & Services Committee MAY 2025 Audit and Risk Committee Workshop for Councillors Public Forum (by request) Council Meeting Hearing (2025/26 Annual Plan) Farm Committee Workshop for Councillors Policy & Services Committee JUNE 2025 Workshop for Councillors Public Forum (by request) Council Meeting Workshop for Councillors	 will be held in Whangamomona a Tuesday 29 April Tuesday 29 April Tuesday 13 May Tuesday 20 May Tuesday 20 May Tuesday 27 May Tuesday 27 May Tuesday 27 May Tuesday 27 May Tuesday 10 June Tuesday 24 June 	and will include community 1.00 pm 3.00 pm 11.00 am 1.00 pm 3.00 pm 3.00 pm 10.00am 12 noon 1.00 pm 3.00 pm 3.00 pm 1.00 pm 3.00 pm 1.00 pm 1.00 pm 1.00 pm 1.00 pm
The April Ordinary Meeting of Council consultation on the Draft Annual Plan) Workshop for Councillors Policy & Services Committee MAY 2025 Audit and Risk Committee Workshop for Councillors Public Forum (by request) Council Meeting Hearing (2025/26 Annual Plan) Farm Committee Workshop for Councillors Policy & Services Committee JUNE 2025 Workshop for Councillors Public Forum (by request) Council Meeting	 will be held in Whangamomona a Tuesday 29 April Tuesday 29 April Tuesday 13 May Tuesday 20 May Tuesday 20 May Tuesday 27 May Tuesday 27 May Tuesday 27 May Tuesday 27 May Tuesday 10 June 	and will include community 1.00 pm 3.00 pm 11.00 am 1.00 pm 3.00 pm 3.00 pm 10.00am 12 noon 1.00 pm 3.00 pm 3.00 pm 3.00 pm 3.00 pm 3.00 pm

Meeting	Meeting Date	Meeting Time
JULY 2025 Workshop for Councillors Public Forum (by request) Council Meeting	Tuesday 8 July Tuesday 8 July Tuesday 8 July	1.00 pm 3.00 pm 3.30 pm
Audit and Risk Committee	Tuesday 15 July	2.00 pm
Workshop for Councillors Policy & Services Committee	Tuesday 22 July Tuesday 22 July	1.00 pm 3.00 pm
AUGUST 2025 Workshop for Councillors Public Forum (by request) Council Meeting	Tuesday 12 August Tuesday 12 August Tuesday 12 August	1.00 pm 3.00 pm 3.30 pm
Workshop for Councillors Policy & Services Committee	Tuesday 26 August Tuesday 26 August	1.00 pm 3.00 pm
SEPTEMBER 2025 Audit and Risk Committee	Tuesday 2 September	2.00 pm
Workshop for Councillors Public Forum (by request) Council Meeting	Tuesday 9 September Tuesday 9 September Tuesday 9 September	1.00 pm 3.00 pm 3.30 pm
Farm Committee Workshop for Councillors Policy & Services Committee	Tuesday 23 September Tuesday 23 September Tuesday 23 September	12 noon 2.00 pm 3.00 pm
OCTOBER 2025 Council Meeting	Tuesday 7 October	3.30 pm

Meeting

Sport NZ Rural Travel Fund Committee Opening date for applications Closing date for applications Sport NZ Rural Travel Fund Committee Meeting

Opening date for applications Closing date for applications Sport NZ Rural Travel Fund Committee Meeting

Creative Communities NZ

Opening date for applications Closing date for applications Creative Communities NZ Committee Meeting

Opening date for applications Closing date for applications Creative Communities NZ Committee Meeting

Citizen Awards

Opening date for nominations Closing date for applications Citizen Awards Committee Meeting Citizen Awards Presentation

Other

Mayoral Reception LGNZ Conference

Citizenship Ceremonies

Citizenship Ceremony Citizenship Ceremony Citizenship Ceremony Citizenship Ceremony

Meeting Date

Monday 31 March 2025 Friday 9 May 2025 Tuesday 20 May 2025 at 3.30pm

Monday 1 September 2025 Friday 17 October 2025 Tuesday 28 October 2025 at 3.30pm

Tuesday 3 March 2025 Friday 5 April 2025 Wednesday 23 April 2025 at 9.30am

Monday 1 August 2025 Friday 5 September 2025 Wednesday 24 September 2025 at 9.30am

Monday 28 April 2025 Friday 30 May 2025 Tuesday 17 June 2025 at 9.30am Tuesday 5 August 2025 at 5.30pm

Saturday 6 December 2025 at 5.30pm 16 – 17 July 2025 in Christchurch

Wednesday 26 March 2025 at 2.30pm Wednesday 11 June 2025 at 2.30pm Wednesday 17 September 2025 at 2.30pm Wednesday 26 November 2025 at 2.30pm